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CBT Sample assessment model answers

Financial Performance (FPFM)

Sample assessment 2
Task 1 (12 marks)

[image: image2.png](a) Complete the standard cost card for the production of 1 unit of XX6.

1 units of XX6 ‘Quantity E=3 I::!”"m "2’

A company budgeted to produce 55,000 unis with fixed production costs of £233,750. The actual volume of
production was 57,000 units and the actual fixed costs were £241,000

(b) Complete the following sentence.

The fixed produciion overheads were [over absoroea il o [1250





Task 2 (16 marks)

[image: image3.png](@) Complete the following table.

Amount Adverse |
Vaniance. £ Favourable

Direct material usage variance 2025 | [poverse oA
Direct material price variance 3120 | [wverse oA
Total direct labour variance 1305 | [laveuracie A

Delta manufactures 5400 units of product QR1 using 11,880 labour hours. The budgsted producion was
5,000 units using 11,250 abour hours at a cost of £163,125. The labour rate variance is £14,850 favourasle.

(b) Complete the following sentence.

The actual labour rate per houris £ [1325





Task 3 (16 marks)

[image: image4.png](a) Calculate the following variances.

— = sion
Fhed oveesa expendture se250 | [ovouas Tl
Fredovemesduolums w2500 | oo [l





[image: image5.png](b) Calculate the following variances.

Amount
Variance 5 sign
Fixed overhead capacty 25000 | [averse ol
Fixed overhead effciency 75000 | [aese ol





Task 4 (12 marks)

[image: image6.png]Complete the operating statement for the manufacture of PD8. Do not use brackets o minus signs for
the variances,

Operating Statement - PD93.

Budgsted/Standard costfor actual production 70824
Variances Adverse Favourable

Direct material price 5070

Direct materials usage 3120

Direct labour rate 2064

Directlabour efficiency 3120

Fixed overhead expenditure, 3220

Fixed overhead capacity 2392

Fixed overhead efficiency 6760

Total variance 13646 13000 848
Actual cost of actual proguction 71470





Task 5 (12 marks)

[image: image7.png](a) Complete the sentences below.

e venainpces s [oscszse [l o <[5 permonn

e seesonslvreton for montn 11s. [raecese [l o £ [E2





[image: image8.png](b) Using the data provided and the regression equation, calculate the values of a and b.

a=g 12000





Task 5 (continued)

[image: image9.png](c) Complete the table belov to forecast the hourly labour rate for each month to the nearest penny.

== Forecast

Mot pume; | ouryrae
Warch (1039 1247
April 1052 1262
Hiay 1057 1258

(d) Based on your calculations in part (c),

hours are worked.

The forecasttotal labour costfor Aprilis £ [22230.40

forecast the total labour cost for April assuming that 1,920





Task 6 (22 marks)
POL89 price variance

The POL89 price variance is likely to be favourable. 

This is due to a reduction in price of 18% during the quarter, resulting in the actual price being lower than the standard price.
The quality of the latest batch of POL89 is higher than expected even though the price is lower, which may lead to a favourable POL89 usage variance. 
POL89 usage variance

The POL89 usage variance is likely to be favourable. 
The purchase of a higher quality product would usually be expected to result in less wastage, and therefore the actual quantity used would be lower than the standard usage. 

The usage and price variances are often linked when a higher priced and therefore higher quality product may reduce wastage costs, however in this case the higher quality is probably due to the advances in production of POL89 and so is unlikely to be linked with the POL89 price variance.
Employees may be demotivated from the lack of pay rise but the new material usage control policy recently implemented should keep material usage favourable.
Direct labour efficiency variance 

The direct labour efficiency variance is likely to be adverse, with each unit taking more hours to manufacture than expected. 
Efficiency will be affected by the demotivational effects of the suspension of the pay rise.
In addition the cancelled order means that production will be lower by 25% during the quarter and there is likely to be idle time for employees which will have an adverse effect on the labour efficiency. 

Fixed overhead expenditure variance

The fixed overhead expenditure variance is likely to be adverse, due to costs of recalibrating the machines and the repair of the defective machine. Therefore the actual fixed overheads will be higher than expected. 
Fixed overhead volume variance

The fixed overhead volume variance is likely to be adverse because the actual volume produced is likely to be 25% lower than the forecast volume due to the cancellation of the order for 3,000 units. Therefore overheads are likely to be under-absorbed. 

Task 7 (20 marks)
[image: image10.png](a) Complete the table below by calculating the performance indicators for Company A and
‘Company B. If rounding is required, show your answer to two decimal places.

CompanyA  CompanyB

Selling price per unit P B
Labaur cost per unit e 12
Fixed production cost per unit 350 300
Seling and distioution costs a5 a % of revenue 238 343
Gross profit margin % 214 P
Profit margin % 2119 2
Retum on net asses % 9 1950





[image: image11.png](b) Calculate the labour efficiency ratio for each year. Round your answers to two decimal places.





Task 8 (12 marks)

[image: image12.png](@) Calculate the profit achieved if the price is set at £90 and the demand is 6,000 units.

The profit achievedis £ 120000

(b) Calculate the profit achieved if the price is set at £70 and the demand is 10,000 units but the factory
can only produce 8,000 units.

The profit achievedis £ 80000

An overseas supplier has offered to manufacture 4,000 units at a price of £45.

(c) Calculate the profit achieved if the price is set at £70 with demand of 10,000 units, manufacturing
6,000 units and purchasing 4,000 units from the overseas supplier.

The profit achievedis £ 100000

Company Alpha is developing 3 new product and expects the targst costto be £50 and will setthe sales price

to achieve a profit margin of 20%.

(d) Complete the following sentence.

The sales price per unitwill needtobe £ 62,50 to achieve a profit margin of 20%

Company Bsta sells a product with a mark up of 30% on cost. The cost of the products £80.

(e) Complete the following sentence.

The sales price to achieve a mark up of 30% is £ 104





Task 9 (12 marks)

[image: image13.png]Beta Limited will be replacing some machines in the next year and needs to decide whether to purchase or
lease the machines.

(a) Calculate the discounted lifecycle cost of purchasing the machines based upon the following:

- purchase price of £400,000

- annual running costs of £50,000 in year 1 increasing by 5% for year 2 and another 5% for year 3
‘and then remaining constant for the next two years

+  the running costs are paid annually in arrears

+ aresidual value of £35,000 at the end of the five years.

Ifthere are nil cashflows for any years you MUST enter 0 in the appropriate box. Net cash outflows
‘must be shown as positive figures and net cash inflows as negative figures (use minus signs).
Round to the nearest whole £.

Cashflow (£) 400000 50000 52500 55125 55125 20125

Discount factor 1 0.952) 0.907] 0,864 0823 0.784

Presentvalue (€) 400000 47600 47818 47628 45368 15778

Netpresent cost (£) 603002





Task 9 (continued)

[image: image14.png]‘costs of £140,000 paid annually in advance.

Round to the nearest whole £.

(b) Calculate the discounted lifecycle cost of leasing the machines for five years based upon annual

Ifthere are nil cashflows for any years you MUST enter 0 in the appropriate box. Net cash outflows
‘must be shown as positive figures and net cash inflows as negative figures (use minus signs).

() Complete the following sentence.

Cashflow (£) 140000 140000 140,000] 140,000] 140000 0
Discount factor 1 0.952) 0.907] 0,864 0823 0.784
Presentvalue (€) 140000 133280 126980 120960 115220 0

Based onthe calculations itis bestto [purchase Rl as this saves £|

32448






Task 10 (22 marks)
1)

You are correct that the gross profit margin has not doubled. The increase is only 71%. The gross profit per unit is more than double at 115%. The reason for this apparent anomaly is due to the sales price per unit of Boold being 25% higher than Diz 
Therefore the calculation of the gross profit margin for Boold results in a larger denominator, and therefore 86p per unit as a percentage of £2.50 is not double the calculation of gross profit margin for Diz. 

2)


The cost per kilogram is correct at £1.30 for Boold. However, Boold requires 1.1 kilograms of material per unit, which is why the cost per unit is £1.43 (1.1 x £1.30).


3)


No, even though the fixed costs are constant in total the production volume of Boold is 350,000 units greater than Diz, resulting in the fixed production cost per unit being lower. This is because the fixed costs are spread over more units, which reduces the cost per unit of Boold and therefore the profit margin will be improved.
4)


The reasons that Boold is more profitable than Diz are as follows:

· Sales price per unit of Boold is higher than Boold by 25% which will improve the margin 

· The sales volume is much higher for Boold which means that fixed costs per unit are lower than Diz again improving the margin. 

· The variable cost per unit is higher for Boold which will have a negative effect and decrease the margin for Boold.

· The fixed production costs per unit is lower for Boold due to the volume being greater than Diz which improves the margin for Boold.

· The marketing costs for Boold are 4 x higher than Diz which will result in a much higher marketing cost per unit (£0.27 v £0.13). This will reduce the profit margin for Boold. 

· The main reasons that Boold is more profitable is the greater sales price and the greater sales volume which combined outweigh the increased marketing costs and increased material costs.

